DGL-38S
DGL-38L

DGL-38LS

Maintenance Manual

y7/[

YANGSAN MACHINERY



1) M3

DGL-38S_Disassembly

5) SNAP RING(R-28) o

(22d)

/

3) WHEEL SPINDLE CASINGIH
CASING LIAIR ZXIZ2 )

ZSAS DJtstlt.

6) BEARING(60012Z) Z0oi-

)

YAF4 YANGSAN MACHINERY



DGL-38S_Disassembly

7) BEARING(60012Z) ZdH-@ 8) NUT =of 9) BEARING(TA1215) =l

11) CLUTCH,CLUTCH STAND = o 12) SNAP RING = o

J | 1 )

YAF4 YANGSAN MACHINERY

HI
(]




DGL-38S Disassembly

13) ROTOR®t REAR PLATE =l

15) ROTOR & 2&
(B JH)

o
—
o

16) REAR PLATE + BEARRING 17) ROTOR + REAR PLATE X &

x el
.J \ j
A\ > |

YAI4 YANGSAN MACHINERY

e




DGL-38S Disassembly

19) BLADE &2, CYLINDER 20) KEY, CLUTCH STAND =& 21) CLUTCH =&

)
xg

o —
——
o

22) MOTOR =& 23) SNAP RING =& 24) OUTER RONG,MOTOR ASSY
+ CASING =&

/ ; / /

YAI4 YANGSAN MACHINERY




DGL-38S Disassembly

25) HANDLE BODY =&

28) BEARING(TA1215) =&

30) BEARING(6001ZZ) =&-1

/ / /

YAF4 YANGSAN MACHINERY



DGL-38S Disassembly

¢

31) BEARING(60012Z) =&-@ 32) SNAP RING(R-28) =& 33) CASING + WHEEL SPINDLE
J (22d) CASING =&

3

=~

CLUTCH + WHEEL SPINDLE 35) CASING + WHEEL SPINDLE 36) COLLECT CHUCK =&

)
2l =g
= J | S / 37) TEST /

YAF4 YANGSAN MACHINERY

P




DGL-38S_Disassembly(HANDLE BODY)

1) HANDLE BODY2F AIR INLET 3) PIN, VALVE, SPRING,
~ BUSHING = ol STEEL BALL =oH
\ y \ / /

4) HANDLE BODY ASSY

2o 2

\ 4
Y4 YANGSAN MACHINERY




ihd

1) SPRING PIN =0oH 2) VALVE PLUG =af

S
- —
L

4) STEEL BALL =& 5) SPRING, VALVE PLUG &¢& 6) VALVE PLUG =&
(BALL PRESSING)
/ | /

YAI4 YANGSAN MACHINERY

i




DGL-38LS Disassembly(HANDLE BODY)

&)

o

10) LOCK OFF SPTING +

A=

=
- |

9) SPRING PIN X&
1) HANDLE BODY + SPRING PIN
LOCK OFF THROTTLE =&l X
\ / \ /
Y4 YANGSAN MACHINERY

o —




